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Note : The paper contains three sections A, B and C. 

Instructions are given in each section along with marks. 

SECTION—A 
Answer any two questions from this section. 2x12=24 

	

1. 	Explain the concept of production possibility 
curve. What are its assumptions ? Illustrate it 
with the help of a diagram. 

	

2. 	State the law of : 
(a) diminishing marginal utility and 
(b) equimarginal utility. What are their 

limitations ? 

	

3. 	What are the characteristics of a market 
structure ? Explain the marginal and average 
revenues of a firm under perfect competition. 

	

4. 	How did classical economists explain distribution 
of income among various factors of production ? 
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SECTION-B 

Answer any two questions from this section. 2x8=16 

5. What is meant by income inequality ? Explain 
the technique of Lorenz curve for measuring 
income inequality. 

6. What is interdependence in an oligopolistic 
market ? What kind of problems does it create 
for oligopoly equilibrium ? 

7. Define the concept of marginal cost. What is the 
relation between average cost and marginal 
cost ? 

8. What are the main determinants of price elasticity 
of demand ? Describe the outlay method to find 
out price elasticity of demand. 

SECTION-C 

9. Explain any four of the following concepts. 
(a) Value 
(b) Wealth 
(c) Goods 
(d) Marginal 
(e) Normal 
(f) Ceteris Paribus 

21/2x4=10 
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(a) 174 (Value) 	 21/2x4=10 

(b) *iffl.  (Wealth) 

(c) q-9-1 (Goods) 

(d) Trl-qta-  (Marginal) 

(e) t-114-11-1 (Normal) 
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